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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 canry 2 marks each. For each

question, four options are given. One of them is the correct answer.-Make your choice

(4, 2, 3 or 4). Shade the correct oval (1, 2, 3, or 4) on the Optical Answer Sheet. B
(20 marks)

1. Whatis 108 716 in words?

(1) One hundred and eighty thousand, seven hundred and six |
(2) One hundred and eighty thousand, séileﬁj hundred and sixteen
(3) One hundred and eight thousand, seven hundred and sixteén

(4) One hundred and eight thousand, séven hundred and sixty

2. What is 3050 + 5007

(1) 0,061
(2) 0.61
(3) 6.1

(4) 61.0

0! 63: 18: 14
(2) 15:60:80
(3) 28:49:35

(4)' 36:40:865



24
)

Whatis 8¢ 3 mf in £7

(1) 8.300 ¢
(2) 8.003 ¢

(3) 0.830 ¢

(4) 0.803 ¢

:_} of Aiken’s pocket money is —;— of Bose's pocket money. What is the ratio of

Aiken’s pocket money fo Bose's vpocket money?

(1) 7:8
(2) 8:7

(3 7:2

- @) 2:7

Express 0.2% as a fraction.



Clinton and Duncan had a total of 45 assessment books. Clinton had 80% of
what Duncan had. How many assessment books did Duncan have?

(1) 36
@) 25
(3) 20

LW

What is the area of the tiangle shown below?

- 16¢m

|12 cm

(1) 96om?
@ 1200
@ 1600



Which one of the following is the net of a cube?

()

@)

3




10.  The figure below is not drawn to scale. PQ and RS are straight lines.
Find Lw.

(1) 79°
@) 81°
(3) 88°
@)99°

1. Elora wanted to work out the answer of 9908 - 117 using the caloulator. She

accidentally keyed in 9980 - 117. Without clearing the answer that was displayed
on the calculator, what did Elera need o key in to obtain the correct answer?

(1) Subbact72
@) Add72
{4 AddT720.



12. ABCD is a square. The triangles in the square are isosceles triangles of the
same size. What percertage of the square is shaded?

. t :
B
. 2
16-— 94
M 165%
2) 33*5%
(3) 66%%

@ 8%

13. Flex had 24 keychains. He gave some keychai’ns to his colleague and 6
keychains to his cousin. In the end, he had 5 of his original number of keychams
“ . left:How many. key&am did he give his colleague? -

() 20

@ 15
@ M
@ 9



14.  The area of Y is 3 times of the area of X. The area of the shaded part of X is —;— of

the area of the unshaded part of X. What is the ratio of the shaded pait of Y to the
osheaded afea of V7

() 1:11
2) 1:9
@) 11:12
@ 11:1

16.  The sum of 20 numbers is 9. If each rumber were to be increased by 003, what

wotlld be the sum of the 20 numbers in the end?

(1) 9.03
@) 9.06
(3) 9.27

(4),‘5;} B

 END OF BOOKLET A*
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Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

16.

17. Express 13 out of 10 as a percentage.

Ans : %
18. Find the value of 4 +d + 7 whend = 5.
Give your dnswer as a mixed number,
Ans:

Do not
write in this
space.




Do not

19.  Study the model below. What is the ratio of Y to the total of X and Y? write In
Give your answer in the simplest form. | tis
space.

Y
Ans :
20. Whatis the missing number in the box?
135=0136x] ?
Ans :

21. *é*kg of chickpeas was divided into 6 packets of the same size. What was the,
mass of each packet in kg?




22.

23.

24.

The figure below shows triangle PQS. SR is the base of triangle PRS.
Write down the height of triangle PRS.

Ans :

The height of a shoe rack is 1.08 m. The height of a ladder is 40 cm more than
the height of the shoe rack ,\What is the height of the ladder? Give your answer
as a decimal. :

Ans: , m

1
4 .
diners were women. What fraction of all the diners were women?

of the diners at a buffet were children. The rest were adults. ; of the adult

Ans ;

Do not
write in
this

space,




25,

The figure below shows a parallslogram ABCD.

Wirite down the angle that is equal to ZDCB.

Ans:

D4 not
wrife in




Questions 26 to 30 carry 2 marks each. Show your working clearly and write your | Donot
answers in the spaces provided. For questions which require units, give your | Write inthis
answers in the units stated. (10 marks) | 5Pe°%

26. y botlles. This week, she collected 25

g¢ mase in the number of empty botiles

Ans : . %

27. Valen, Winsy and Xarnthus shased some dice in the ratio 4 : 3 : 2. Valen gave all
her dice equally to Winsy and Xanthus. In the end, Winsy had 95 dice. How
many dice did Valen give Winsy and Xanthus altogether?




3. Sadj spent 50 minutes on his project. He spent e minutes more than Thor. m,t, this

Thor spent 10 minutes less than Udell. How much time did Udell spend on his | space.
project? Leave your answer in minutes.

Ans : min

9: " The total cost of 8 purvipkins is $38. The average cost of 2 of the pumpkins
is $4. What is the average cost of the remaining pumpkins? -




30. In the figure below, the ratio of the area of MPQ to the area of MON is 5 : 9. The Domat
1 | | S.In this
area of ORN.is -5 of the area of MPQ. What is the ratio of the area of MNOP to | space

the area of ORN?.

s,

“END OF PAPER 1**
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Questions 1 to 5 cafry 2 marks each. Show your working clearly and write your Do not write
answers in the spaces provided. For questions which require units, give your i this space,
answers in thé units stated. (10 marks)

Ans:

2.. The figure below, not drawn to scale, shows a trapezium EFGH and a|
rectangle FLKJ. Find LLFG. '




3. Byron and Clint had an average savings of $685. Dillys had savings of $880. | Do not wiite
What is the average savings of Byron, Clint and Diflys? in this space

Ans:$

4. Eu Ya divided a vanguard sheet into two sections. She coloured the two
sections using gold and silver paint.

Gold | Silver

EEEEEEEEEERREREER

60 cm 80 cm 100.cm 120 cm

What is the ratio of the total length of the gold and silver section to the
length of the gold section to the length of the silver section? Give your
answer-in the simplest-form.




5. There are 64 chairs in a lecture theatre. A group of pupils are asked ta arrange | Do hot
the 64 chairs in different ways. They can arrange the chairs info rows Every | ¥ie in
Fow: must have the same nuitiber of chairs. One way of arranging the chairs space.

Row
row LI IEIEIL

i1
)
=
t

A OO OO
= CIO00000 000000000 |
What is the total nuraber of different ways, mciudmg the one shown above '
that the 64 chairs can be arranged?

Ans:




For questions 6 fo 18, show your working clearly and write your answersin the Do not
spaces provided. The number of marks available is shown in brackets | ]at z‘;‘e in

the end of each qumn or part-question. (50 marks) space.

Fiygempﬂd$775€orsurﬁngmeicnemetmﬁxecafé.vwzatwasthemaxamum
rwmberoftww*sshespantsurﬁngﬁ’ne;ﬁ:f., . D |

Ans __[Bm]




_ Do qpt write
7. Trangle DEF is drawn on a 1-cm grid. What is the area of Triangle DEF? In this space

Ans: - | B m]




8.  There were 1456 English books in a fibrary. This was 12% more than the 3°m':°t wiite
number of Chinese books. How many more English books than Chinese " Space
books were there?

Ans: __ {3 m}




).  The total cost of 10 similar mouse pads was $5.80 more than the total cost ﬁ"m"gs"““e
of 6 similar USB flash drives. Each USB flash drive cost $45.95. Graine pact
yought 1 such mouse pad and paid $100. How much change did he

celve?’

CAnst {3 m]



Do not wiite
0. Hasia and Inka had an equal amount of mohey. Hasia received $60 from | " this space.

How much in total did the two of them have in the end?

Ans: . [Bm]




1.

Lusin had 4004purple. red and pink crystals. 60% of the crystals were purple.

Therewete4masmanyredcfysialsaspinkaysials Lusmboughtsome

Ans: ] A mj

10

Do not vaite
in this space.




D < Y
12. A group of people participated in a' quiz. —; of the women and 3 of the men inou?igtswpam;
waree&mmatedﬁmnﬂ:equzAtoﬁalowaomnandmenweeWnated

Ans: , _ [Am]

"



Do not wiite
13.  Study the advertisement below. ia this space.

Evety dimng vouchef cost $20 Namie purchased 90 vouchers How much
did Namte pay altogeiher? _

Ans: _Mwm

12



Kyiie used 'some of her bonus to donate to a hospice, an orphanage and an

oldfolks home. Shedonated 30%ofherbmus tavﬁzehmceaad 40%of

Ans: _ . 4 mj

13

Do niot write
in this space.




‘each , hewouldhavezsg fewer packs of flour. How much flouir did Baker Joon

Baker Joon bought some flour. He packed all the flour equally into smaller

: 2
packs of gkg each. If he were to pack all the flour equally into packs of 1~;—kg

Ans: - [4m]

Do not wiite
in this space.

14




16.

Dane, Enzo and Fraser shared some game cards. Dane had

had. Enzohadstmesofwhatf:rase{had After Dane fost some of his game
f the total gar "mfdsﬁat_EnzoatdFraserhad

(b)  Howmany game cards.did Dane lose in school?

2 _
— of what Enzo

'L;ﬁ;:},,,_':,"t’é sﬁaréieFfase!’SShare at

5

Ans:(d)_

(©)

B m]

16

2m]

Do not
write in this
space.




17.  Olwyn bought some peaches, lemons and avocadoes inthe ratio 3 : 1 : 6. Do not-

The prices of each type of fruit are shown in the table below. write in this

Olwyn spént $52 é!fogetﬁen How‘many: avocadoes did she buy?

Ans: {5 mj

16



8.

The figure below is not drawn to scale. PQU is an equilateral triangle. SUVP
and QVW are straight lines.

(8 Find LPRU.

Ans @) . 4 {2 )

®____ B m]

17

Do not
write in this







13 2) 3 3) 4 4)2 5) 1 6) 3
7) 2 8) 1 9)2 10)3 111 12)1
13)3 141 154

16) 53499

17) 130%

18) 4/5/7

19)2:3

20) 1000

21)7/40kg

22) PQ

23) 1.48 m

24) 3/7x3/4 = 9/28

25) Angle DAB

26 (25-10)/10X100% = 150%

27)5u-—-95
4u -- 4/5x95 = 76

28) (60-e) min



29) 4x2 = 8
38-8 = 30
30/(8-2) = $5

30)5+2=25
- (5+9)x2 =28
28:25=56:5

Paper 2

1) 40.5x4 = 162
162+364.5 = 526.5
526.5+40.5 = 13 boxes

2) 180-58-76 = 46
90-46 = 44°

3) 685x2 = 1370
(1370+880)/3 = $750

4) Length of gold = 92-64 = 28 cm
Length of silver = 116-92 = 24 cm
28+24 :28 : 24
Ans:13:7:6

5) 1x64, 64x1
2x32, 32x2
L 4x16.16x4 ..
- 88
 Ans: 7 ways

- B)7.75-4=3.75
3.76+1.256=3
Ix1/2=15
1.5+1=2.5 hours ..



7) 5x5-1/2x5x3-1/2x2x3-1/2x2x5 = 9.5 sq cm

8) 1456 = (100+12) = 13
13x12 = 156 more English books than Chinese books

9) 6x$45.95 = $275.70
$275.70+$5.80 = $281.50
$281.50+10 = $28.15
$100-$28.15 = $71.85

10) < Sa ——>

Hasta v ;60 ‘

 lnka | //3/56'////‘
N

8u — $332+$60 = $$392
10u - 10/8x$392 = $490

11) 400 + (15+8+2) = 400+25 = 16
16x8 = 128
128 + (100-36) = 2
2x36 =72
16x2 = 32
72-32 = 40 pink crystals

12) 1W+3M = 84
- AW=3M=84+2=42
- 6W =6x42 = 252
IM=42+3=14
. Ans: 252+14 = 266



13) 90+8 = 11 R2
11x7 = 77
77x20 = 1540
11x1 = 11
85/100x20 = 17
17x11 = 187
2x20 = 40
40+187+1540 = $1767

14) | WL

~7
hospice
(t5u) (tew)

: : N g .
e old foiks” 4209%
orphanag :om o t eb00
~4l6oo  (u)

(W)

2054+1600 = 3654
3654=7x5 = 2610
2610x10 = 26100
26100-2054 = $24046

15) 1.2-0.4 = 0.8
1.2+0.4 =3
250x0.4 =100
100+0.8 = 125
125x1.2 = 150 kg
—hu—3 A

16) pe | 5u r‘%

.». . EQO )

T 7 1 (b

" Fraser

‘@) 12:30:5
b) 40u— 280
7u — 7/40x280 = 49 cards



17) 3x2.5+1x0.5+6x3 = 26u
2x6 = 12 avocadoes

18a) 180+3 = 60°
60-33 = 27°
180-27-60 = 93°

b) ~ 180-10-60 = 110°
180-110 =70°
180-70-70 = 40°






